17.

4.
uss -@
(&) swaminy wrm X —sr Bess6; Lrais ST U siTan g,
X 0 1 2 3
P(X =x) 2a i 3a 4a 5a

(la ()P(X =2) (P(X <2) S Elemenns smemrs.

() swaminiy el X —gr Hepssn) Lras SYs L e ).
| S W I,
PX=x): 173 176 7T

E (2X + 3)’-emowé smevres.

@) 10 prewnuriss 00 s lL@S e, ()eflurs 7  samessr
(Nemnhss 7 smausst slenLlugmerer Hepses sremrs.

. 18. Q0  Cemfihsmameuuils 2 MUSHUNGD @bl WerellsréGasafisn 3%
Geomur(hleTarens stenflsy, wrglfle.m 100 @ip Wsrellens@safle eflums 5
GopUTGTeTemauLTES @)58 5 Bepssn) srems.

(@) @F @uwssme wmfl X —eor syrafl 6 S S aflusen 5 L&D
SjemhgisTartgefiss (i) PX>11) (i) P(~4<Xx < 16) &smswrs.
P0<Z<2)=04772, P0<Z<1)=03413 erems; QBTEIESii—
UL (DsiTen ).

@ Jédy aiss Qsmsramssmu LwETURSE @ Cri CarE Gl (6 816.

X i 0 79 2 3 4
Y 1 1 3 4 6
9. (2) @f sisaflsr Qaraaa—Cry umiur® s = 2¢3 + 3t2 — 72¢ + 1 sTeaflsd,
. SlewsGausid LFdub WG CuTgl YWESSD s,

(@) ¥=5-2x-3x2 eimm UDTDISG (2, —11) sam  ysiefuls

CsrHCsTEH whmid CeniCam gt susTUIQsmars sremrs.
@ x—1)2%(x—2) —ar G whmh Gmio wSliyssmeTs: Smeves.
20. (@) - oplussn oymd 7’ GSSnD 'h' 2 e Crion't sunflsr ser
‘Sfmenay Ggrensuiie eein smsrs.
(@) 851 (1+e*)sec?ydy—e* tanydx =0
.. EZ - 2x _— 2
@ s dx  1+x2 y=Q+x%

2. (o) & (D*-4D+13)y=0

(@) &5 (D*+6D+9)y=ge3

@ &i: (D*-4D +3)y=2sin3x
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IN.B:- (1) Answer any FIVE questions in each of PART-A & PART-B and aﬁy two
divisions of each question in PART-C. :

(2) Each question carries 2(two) marks in PART-A, 3(three) marks in PART-B and
5S(five) marks for each division in PART-C.]

PART - A

In a binomial distribution, if n = 9 and p = -31- , find mean and variance.

State the normat'equations of the straight line y=ax+b

Find the slope of the tangent to the curve y =x%2 — 554 42 at the point
(1, 1.

Find the maximum value of Yy = 4x — 2x2,

Solve: xdx+ydy=0

dy
dx

Find the integrating factor of 2 =,

Find the particular integral of (D2 —3D +2)y =3«
Find the tomplementary function of (D2 +5p + 6)y =2 cos 3x

PART - B

Find the value of "K', if a continuous random variable ¥’ follows the

2
bability L 2{ k(l‘*‘X), O0<x<1
probability law: f(x) 0 elsewhere
If a random variable ‘X’ follows Poisson distribution such that
P(X=1)= (X =2), find P(X =0). Given e~2 =0.1353

If the distance 's’ described by a particle in time ¢’ secbnds is given
by s = ae’ + be~t, show that the acceleration is always equal to the
distance passed over. :

Find the slope of the normal to the parabola y2 = 4ax at the point
(at?, 2at).

Find the area bounded by the curve xy =1, the x-axis and the Llines
x=1land x = 2. '

1+x2
1+yZ

=0

d
Solve: 24
dx

Solve: (D*—6D +5)y =0

185/566—1 [Turn over..
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16. Find the particular integral for (D% + 25)y = sin9x

it

18.

19.

20.

21.

PART - C

(@) A random variable ‘X’ has the following probability distribution:

X 0 1 2 3
P(X =x) 2a 3a 4ta 5a

Find the value of (i)a (ii) P(X = 2) (iii) P(X < 2)

(b) A random variable ‘X’ has the following probability distribution:

X -1 0 1 2
P(X=x): 1/3 i 1/6 1/6 1/3

Find E(2X + 3)?

(c) Ten coins are tossed simuLtdneously. Find the probability of
getting (i)exactly 7 heads (ii)atleast 7 heads.

(a) If 3% of electric bulbs produced by a company is defective, find
the probability that in a sample of 100 bulbs exactly 5 bulbs are
defective.

(b) If'X" is normally distributed with mean 6 and standard deviation
5 find ()P(X>11) (i)P(-4<X<16). Given P(0<Z<2)=
0.4772, P(0<Z < 1) =0.3413

(c) Using the method of least squares, fit a straight line:

X 0 1 2 3 4
Y 1 1 3 4 6

(a) If the distance-time for a particle is given by s=2t3+3t% -
72t + 1, find the acceleration when the velocity is zero.

(b) Find the equations of the tangent and normal to the curve
y=5-2x—3x% at (2, —11).

(c) Find the maximum and minimum values of (x — 1)*(x — 2).

(a) Find the volume of right circular cone of height 'h" and base
radius 'r’ by integration.

(b) Solve: (1+e*)sec?ydy—e*tanydx =0

(c) Solve: &_ %

dx 1+x2 Y= (1+x2)

(a) Solve: (D2 —4D +13)y=0
(b) Solve: (D2 +6D +9)y = 6e3*
(c) Solve: (D?*—4D +3)y = 2sin3x
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13.
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NemEsEnsEn PN LGH-B-Teo gadar®m elemalsiimHhsl
gGaaio B Uflasensgn alemwelssan.
@) galarm elemap ugH-o-sle  2A@rew®)  wHUCLGTEET,
UGSH-si-edev (aparpl) WHLCLIETTEST OO UGSH-@—lev et
Sfieutd Slgaie) oBLCLTSET GUEID]

Li Mt~ |

@F FEeoiy uraussld n=9 whgo P =§ eteufley, &nmafl LOHMID UTIDLIE
SITEUITS.

. y=ax+b ey CriCemnyne Guahmas susTurQSmTsS snnis.

y=x—5x+2 ewm oumerasors@ (1L 1) eemrm  useflufied
QaTHCHT Ip6T SIS STEIS.
y = 4x — 2x? —er QUi LEUMUS STETs.
& xdx+ydy=20
% +f =x —5@ Ooraswi @ syl srems.
(D% —3D + 2)y = e73* —air fipiysQsnme snews.
(D2 +5D + S)y =2 cos 3x -sor BTy &MY &etus.
UGSH-

1!

em Gsni swamiiy wml X' gars Spsa.  Hspsse  efSow
QuimsterQsefled 'k’ —6ir WS srevus.
-k
(M0~ o<t
L Gimridlgin

X' stétr gosumiiy ompl UMSOTET LTRSS ollul@®@ PX=1)=X=2)
asofls, P(X = 0) sremrs. e~2 = 0.1353 stem QarOSsiulGersrgl.
Y sflermgasflsy s’ Qgmmesy e gisaflar amiur® s = ae + be™ e
Merseiudptsaild YEssn iturgh FeGD geafldr CgrmunseE
s Tards S_(Hie.
y? = 4ax semp upsusmeTUSSMEG (at?, 2at) ererm ysteflufley GermiGam e
FMUMEIS STEI0TS.
xy=1 sty sumemOTSEGD X gEs wpgw x=1, x=2 eap
Carhssmmas jem u@id urilleners, sreTs.

. iy 1+x2
g —4+ ——=90
&0 dx * 1+y2

& (D*-6D+35)y=0

. (D% + 25)y = sin9x —sr Splys Qsrme srems.
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